Sowme ways to 3e:|' O(n)- time ol gocithms

. °|+era.+e ‘H«rOUjk 'mPu'(', 0({) 'I'ime.s,
L—)eﬁ., Veri-(J socted orAe() -()iml 357-1th Smodle.s"') qul'\'-hovt

. c\assic, A'\v'\Ae antJ conguer with O(ﬂ'_ﬁ) hon-recursive work, £=06(0)

LT0)= b-T(E) + 0(0™)  feaf feved domimackes pelynomially

. divide and conguer with B(n) non-recursive work .

L;» T(n): a.T(%) + Q(V)) wm.\ce sure o.<lo

.3, suppose  you must access all data — 00 Lovec boond
(omJ '\‘l'efa-l'inﬁ Joesvﬂ' work)



"
"Pru ne and search

T(n) = T(%) +B(n) =)

,LZDD e(w) non-Yecyrsive wer)
e’im}na,‘l'e, o Coms-\'om"' -ef‘o\c‘h'ow o-e "H'\e, dota

Works 'eor any Poljvnow{m.l ‘?(m)
TC)= T(E) + ) = ©(8w)




l'ﬁ OL" of "”na.‘l' 'fo.i/S'.,. l’lere:S one wpore ;Jeaﬁ

DD G(n) non-\'ecursive worL) anu, sowme fecurs.lve u)o(‘l<

in orcle,r ‘(’o elim}nu‘l'e, aA CDV\s‘\'cm"' ‘e(‘o\cl'l'ow D‘e 'H'\e, O\OJ"'OL

TC)= 6(n) +T(%) + T(L)

-eor c > |

+his will work '\-e >‘< + L = _é-

g T(R)+TE) v TEMT(B) T(2)+7T(4) X



Ty = T(5) + T(L) + pn

ijo”\es’:s: foc all \<<w T(k) < d-k

(V‘) ”V'L“‘O‘—E--\'PVL

= (JVL(;<+L> + pn

= AV\_% + Pv\_

= dn —(C_;_'.AVL - P.W)

< dn if c|>/P—C—~



